#### Exponentials and Logarithms Essential Practice Solutions



Skill: Reduction to Linear Form

#### **Solutions**

1.

# **ALevelMathsRevision.com**



2.

2i/ 
$$\theta = ab^{-t} = > log\theta = log(ab^{-t}) = > log \theta = loga + logb^{-t}$$

$$=> log \theta = loga - t log b$$

$$log \theta = (-logb)t + loga$$

$$Y = m \times c$$

$$... When logo b is plotted against t, a straight line of gradient - logo b and y-intercept logo a is obtained.

ii/ Finding the equation of the hie, we get
$$m = -0.03 - 1.05 = -0.36 (= -logb)$$

$$=> Y - 1.05 = -0.36(X - 2) \text{ (where } Y = log b and X = 6)$$

$$=> Y - 1.05 = -0.36(X - 2) \text{ (where } Y = log b and X = 6)$$$$

### ALevelMathsRevision.com



=> 
$$Y = -0.36 \times + 1.77$$

so  $m = -logb = -0.36 = > b = 10^{0.36} \approx 2.29$ 
 $c = loga = 1.77 = > a = 10^{1.77} \approx 58.88$ 

iii)  $0 = 58.88 \times 2.29^{-6}$ 
 $ay b = 0 = > 0 = 58.88 \times 2.29^{-6} = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $by b = 2.5 = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy lobe b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy lobe b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy lobe b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy lobe b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy lobe b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{-6} = 7.42^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{\circ}C$ 
 $cy loga b = > 0 = 58.88 \times 2.29^{\circ}C$ 

# ALevelMathsRevision.com



